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1. Regarding secondary active transport:
(A) ATP directly consumed
(B) use energy of ion gradient
(C) solute moves follow its concentration gradient
(D) all of above
2. common mechanism(s) by which stimulation-ofa cell'leads to an increase in cytosolic Ca®*
concentration:
(A) plasma membrane calcium channels open
(B) calcium is restored by endeplasmic reticulum
(C) active calcium transport out of the cell is activated by a second messenger
(D) all of above
3. Which one of the following is NOT true about cells generating action potential”
(A) cells are bad wires,
(B) cells use electrons to conduct action potential
(C) cells are not well insulated
(D) not all cells can generate action potential
4. main factor(s) contribute to the maintenance of membrane potential
(A) Ion channels

(B) Ion pumps
(C) Intracellular proteins
(D)all of above :
5.The ____ coordinates digestion;secretion, and motility to optimize nutrient absorption. Its activity is
modified by information from the ___ and from local chemical and mechanical sensors.

(A) enteric nervous system, CNS
(B) CNS, enteric nervous system
(C) CNS, spinal Cord
(D) spinal cord, enteric nervous system
6. The swallowing reflex is coordinated by the____, which stimulates the appropriate sequence of
contraction and relaxation in the participating skeletal muscle, sphincters, and smooth muscle groups
(A) pons
(B) midbrain
(C) medulla oblongata
(D) cerebellum
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7 ____ stimulation in liver will____ glucose production and release
(A) sympathetic, have no effect on
(B) parasympathetic, increase
(C) sympathetic, decrease
(D) sympathetic, increase
8. Glycolysis catabolizes primarily glucose. It consists of 10 enzymatic reactions that convert a ___-carbon
molecule of glucose into two ____ carbon molecules. Amet gain of ___ and 4 atoms of hydrogen
(A) 5,2,36ATP
(B) 6,1, 34ATP
(©) 5,3, 1ATP
D) 6,3, 2ATP
9. Which one of the following is NOT involved in the proteinnctabolism?
(A) glycolysis
(B) krebs cycle
(C) oxidative phosphorylation
(D) all of above
10 During the rising phase of the action potential,
(A) sodium channel open
(B) sodium flow out of cells
(C) potassium flow into the cells
(D)Aand B
11. Which of the following homeostatic control systems is most likely the result of learning?: Its regulation
anticipates changes in a regulated variable.
(A) positive feedback
(B) negative feedback
(C) feedforward process
(D) involuntary reflex
12. Which of the following compenents of electrocardiogram (ECG) appears as the result of the
ventricular depolarization of heart?
(A) P wave
(B) QRS complex
(C) T wave
(D) S wave
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13. In the case of arterial pressure dropped during hemorrhage, which of the following reactions relevant
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to arterial baroreceptor reflex is true?
(A) arterial baroreceptor firing decreased; sympathetic discharge of heart increased
(B) arterial baroreceptor firing decreased; sympathetic discharge of heart decreased
(C) arterial baroreceptor firing increased; sympathetic discharge of heart increased
(D) arterial baroreceptor firing increased; sympathetic discharge of heart decreased
14. In a typical ventricular myocardial cell action potential, right after the depolarization, the membrane
remains depolarized at a plateau of about 0 mV-forapproximately 250 msec. Which of the following
mechanisms is involved in this process?
(A) increase of the membrane permeability to sodium ion
(B) increase of the membrane permeability to potassium ion
(C) increase of the membrane permeability to magnesium ion
(D) increase of the membrane permeability to calcium ion
15. Regarding to neural control of respiration, which of the folloying statements is NOT true?
(A) Neuronal firing in the dorsal respiratory groupof medulla increases primarily for inspiration.
(B) The dorsal respiratory group of medulla is important for pacing the respiratory rhythm as called by the
respiratory rhythm generator. '
(C) The pons can fine-tune'or modulate the medullar respiratory control.
(D) Ventilation is reflexively stimulated via the activation of peripheral chemoreceptors when arterial partial
pressure of CO; increased.
16. GABA : glutamate =
(A) excitatory postsynaptic potentlal (EPSP) : inhibitory postsynaptic potential (IPSP)
(B) inhibitory postsynaptic petential (IPSP) : excitatory postsynaptic potential (EPSP) )
(C) end-plate potential (EPP) : pacemaker potential
(D) pacemaker potential : end-plate poténtial (EPP)

17. Which of the following diseases is most related to hyper-activation of brain dopamine systems?
(A) epilepsy
(B) Alzheimer’s disease
(C) Parkinson’s disease
(D) Schizophrenia
18. The postsynaptic receptor of neuromuscular junction is ___ type.
(A) acetylcholine (Ach) muscarinic
(B) acetylcholine (Ach) nicotinic
(C) dopamine D1
(D) dopamine D2
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19. In contrast to action potential occurred in the neuron, which of the following statement is true for the
graded potential?
(A) The amplitude is activated in the fashion of “all-or-none”.
(B) Its initjalization requires a current to pass over a threshold about 15 mV depolarized relative to the resting
potential.
(C) It has no refractory period.
(D) It cannot be summed in the temporal or spatial fashion.
20. Which of the following measurements or instrumients.is NOT useful to examine brain activity?
(A) sphygmomanometer
(B) electroencephalogram (EEG)
(C) functional magnetic resonance imaging (fMRI)
(D) magnetoencephalography (MEG)
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prefrontal cortex, (2) basal ganglia, (3) amygdala, (4) pituitary gland, (5) hypothalamus, (6) cerebellum. -
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